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532 gl I ARA 688 771 -83
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= 7S 2 8 RHAH 382,764 308,910 73,854
7|2 RS A 0 0 0
CHOi = = xH 2 109,262 133,132 -23,870
S X}AH 5,139 4,921 218
==Y 7,558 7,971 -414
X 2 & XpAL 108,954 76,583 32,371
AL OFH| 7,247 7,436 -189
7| EFRFAH 14,003 12,907 1,096
XM= A 721,607 704,903 16,703
HEA SRR 497,283 451,403 45,880
2 g=x) 38,697 52,578 -13,881
7| EFELXY 32,154 45,332 -13,178
B = A 568,134 549,313 18,821
N =1 169,714 169,714 0
NI =1 1,640 1,532 108
d&3 -21,632 -24,128 2,496
7|EfEEE A 3,751 8,473 4722
X E = A 153,473 155,590 -2,117
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T = FY2013 2/3%7] FY2012 2/457| HMEgH 52
gzl 430,115 332,225 97,890
AoH|R 427,809 322,311 105,497
¥ oi0|9 2,306 9,913 -7,607
Sel+9 663 592 71
AYAHE 473 443 30
KOl M| H| 22 E 0] 2 2,496 10,062 -7,566
BolAMHE 0 2 -2
ot7)40]9 2,496 10,060 -7,564
7|Ef R0 -4,722 3,516 -8,237
S| EsZ e -2,225 13,576 -15,801
O. AFYA S
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(BHRl - 74, =ioER)
T = FY2013 2/38 7] FY2012 2/487| MUy =7+

Ha 1,314,942 1,085,999 228,943

AA A
o 19,646,639 15,984,829 3,661,810
Ha 2,575,099 2,243,696 331,403

ECE D
oy 83,071,212 69,540,085 13,531,127
Qapsliz 339,031 283,605 55,426
N 213,438 192,334 21,104
SAFQIH]| 48,984 45,516 3,468
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187,846 179,353 8,492
230,858 225,495 5,363
3l 2(A/B 81.37 79.54 1.83
2) ArHlg
(CH9] © DLl %, %P)
FY2013 2/3&7]| FY2012 2/42 7| HMUACH] S+
48,984 45,516 3,468
233,195 220,939 12,255
21.01 20.60 041
(E9] : DL, %, %P)
FY2013 2/3&7]| FY2012 2/42 7| HMUEC|H] =2+
721,607 634,820 86,787
495,587 470,559 25,027
68.68 74.12 -5.45
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T = FY2013 2/3%& 7| FY2012 2/4% 7| MUy =2
EXY 2 l(A) 19,430 21,333 -1,903
J 12 XHH(B) 473,358 445,735 27,623
=& XHH0| 2 & (A/B) 4.10 4.79 -0.69
F) LEXUO|YE | BEXNEYEY+H{T| 22X +T| YR EXA-FEXHE & 9l)/2)
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(CHel : =HTERL, %, %P)
T =2 FY2013 2/3£7| FY2012 2/4% 7| MUy =2
H k2 X| 8 (133 X}/253| k}) 81.44 / 73.65 84.46 / 76.19 -3.02 / -2.54
ROA (Return On Assets) 0.71 3.23 -2.52
ROE (Return On Equity) 3.23 13.92 -10.69
ZF 1) ROA: Y7[&0|Y+{(HM2| A A=Y SR+ EI| U ERHA-S7|2=0]2)/2)x (4/ B2t 2 7| )
7 2) ROE: G7|&0| Y +{(HS| A M =YX 7| RHE+ T2 7| LRE7 | XHR-E 7| 50| 2)/2)x (4/Z 027 | )
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XE2SA 153,473 161,320 155,590
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r2doia 1,640 1,586 1,532
OlYAAF(EES) -21,632 -13,574 -24,128
INEEATS 0 0 0
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X| =02 H|2(A/B) 190.64 206.62 194.71
A== aA(A) 146,223 154,367 149,571
K= 7|=a4(B) 76,700 74,710 76,817

B 69,923 68,287 70,724
R 1,992 1,735 1,477
AMER A 6,438 6,179 5,638
NESEL Rl 79 154 300
= 6,270 5,965 5,736
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FY2013 2/3 27| X0 =Y|
o 1641% S5t L CL.
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EAA XY 497,283 467,745
=Ly S XA o1 0 0
En | 497,283 467,745
2 A oF 1Y 0 0
sd SXHA b5 A 0 0
| 0 0
e e 497,283 467,745
A S XA o2 1 0 0
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AoEZ 0 0 0
Agsar 0 1 1
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NEEEE 6 13 13
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o AQanzm 9,456 15,656 6,201
N == 43,710 44,955 1,246
K| kFOH(B) -11,443 -30,348 -18,905
&2 X| KFOH (A+B) -11,449 -30,361 -18,918
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» Paid Loss Development Method

Ehol e ptl)
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N Yearl Year2 Year3 Year4 Year5
2009 5,988 8,519 9,146 9,313 9,324
2010 6,484 9,274 9,600 9,759
2011 5,239 7,888 8,478
2012 4,946 7,861
2013 4,964
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P Axacioms

TR/ EopE
= iT
VI. X SR =
o —
1. T EHEfE
M157| 287] 20134 9¢ 30 x|
H|147| 20134 38 31 S
AXAZESH A D] A (CHel: 3
zt = A 15 71 (& ZI1) A 14 21 (A 21)
I. #®3F U #®BAAM 688,088,038 770,645,710
1. 2 1,990,570 2,078,070
=3 =t ofl = 26,296,868 14,869,670
3 = ofl = 659,800,600 753,697,970
O. = &2AAF8AA 85,991,288,769 152,272,059,898
1. F o = A 35,748,182,598 102,101,966,138
2. 71 B § 7t & A 50,243,106, 171 50,170,093, 760
m ol EJts 8 8 A 382,764,391,753 308,910,086,069
1. = 3 zH 69,581,468, 289 60,629,438,766
2. = = zH 182,922,983,643 186,029,062,163
3. 2 = zH 79,303,001,783 20,464,142,210
a. 3 At zH 50,956,938,038 41,787,442 ,930
V. o3I A 111,232,770,927 134,620,177,541
& = g 2 A607,147,536 A603,385,755
# X JF X el R F A1,363,533,914 A884,726,049
1. o = = A 10,883,760,899 11,146,859,843
2. A 2| of| = 12,200,000, 000 2,200,000,000
3. 7 E} of = 3,676,424 ,537 17,533,874,709
4. 82 8 o #F= 2 24,496,096, 820 44 ,156,373,817
5. o % = 31,414,392 ,524 32,429,325,298
6. & = = 22,459,660 ,436 22,696,073,146
7. ol %= %= o 5,997,435,711 4,452 670,728
8. = Et = 105,000,000 5,000,000
\% 7 & Xt 2k 5,139,024,258 4,921,083,015
1. H = 24,162,760,041 23,007,723,624
2zt oF &b ZH & A o [ A19,209,726,938 A18,310,194,202
2. X = =2 & 3 43,412,621 43,412,621
2t JF A ZE & o o 243,411,621 43,411,621
3. 2 X E A M E 652,456,431 641,832,626
A AN 1 . 466,466,276 418,280,033
vi. = & Xt Ak 7,557,538,880 7,971,161,630
VI M2 H R M 108,953,933,486 76,583,414,530
vm 2 Al oF b 7,247,237,283 7,435,784,193
IX 2] Ef xt 2k 14,003,107,765 12,906,906, 468
1. o = g = 2,082,534,262 1,594,519,862
2. T At zH A 8,476,094 ,943 9,209,888 ,021
3. o = = 1,107,608,770 142,298,970
4. o] oA ool M R 2 1,331,763,430
7t x| = = 73,000,000
5. o =g 2l M & Z 926,700, 360 1,949,784 ,524
6. 4 = = It M 5,406,000 10,415,091
xt & = A 721,606,699,709 704,903,207,250
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P Axacioms

CAME S/ sy
ol 5 H 15 71 (& 71) ®H 14 71 (® 7])
I. 2 8 A o 8 497,282,996, 802 451,402,570,680
1. x 2 &= w8 2| 126,005,186,369 111,832,326,295
2. 2 8 =2 8 @ 2 31,586,822,158 25,900,601,977
3. oAdnEgEada2| 339,60,988,275 313,669,642,408
on. 2 8 2 A 38,697,086,732 52,577,862,268
1.2 & o A 2 F 36,979,524, 366 51,716,149,768
2. o o = = 1,717,562,366 861,712,500
m. 7 B 2R 32,153,941, 334 45,332,278,607
1.8 A = 88 15,665,373,113 15,013,003, 244
2. H A 8 o M % 166,089,941 20,040,238,972
3. 7t = 2 o = 85,523,094 80,842,082
4. o - = 1,129,609,709 1,155,214,564
5. o x Z & I A 59,074,927 43,885,851
6. = 7 & & & A 784,921,099 765,833,483
7.3 8 2 7 B2 OA 14,263,349, 451 8,233,260, 411
= B & A 568,134,024 ,868 549,312,711,555
I. X = = 169,714,290, 000 169,714,290,000
2 E = X 2 2| 169,714,290,000 169,714,290,000
o. X = o o =F 1,639,698, 033 1,531,565,738
= A gl o x o3 F
7 Bt A 2 Y of 2 1,639,698,033 1,531,565,738
m & =1 A21,632,279,677 A24 128,494,129
ol M 2 & & F| A21,632,279,677 A24,128,494,129
(= 71 = o o) (2,496,214,452) (12,957,040,989)
V. J|EFEZHa ol o 3,751,427,375 8,473,134,086
) =ls 28R E 0|2 3,751,427,375 8,473,134,086
eIl 2RI
At = = A 153,473,135,731 155,590, 495,695
2 M ¢ x 2 F A

721,607,160,599

704,903,207,250
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P Axacioms

2. ELEQH A
157 2827| 2013H 42 1Y9=E 2013E 9 3027}HX|
X147] 2827| 20124 42 129=E 2012 92 302X
AXAES 2 F A D A (2 &)
2 = H 15 7] (& 7I1) H 14 21 (& 2])

I. ¢ & &= 9l 430,115,082,603 332,224,714,222
1.2 8 2 9= 9 324 521,279,728 271,104,925 ,500
b &= 2 @ 2| 339,031,366,620 283,605,487,656
oM o2 " 2 2,089 809,769
ch.af x 2 2 14,510,088, 981 12,501,371,925
2. M =2 g £ o 45,761,331,779 32,422 088,033
7b. A =] E = 47 664,623,046 33,765,580,191
Lhdo2 oo 2 83 2 1,903,291, 267 1,343,492 158
3. M =2 o R MM YA 32,370,518,956 6,075,933,476
bR 2 2 2 H YA 8,685,649,158 4,360,820,651
LooldoEd 2 e 3 23,684,869,798 1,715,112,825
4. o X} & el 8,130,267,372 8,856,762,690
5. 2 8 4 F 5 & £ o 1,663,254,110 2,076,692,928
7b. @710 oA Z g XA X209 1,319,813,478 1,592,686,477
Ll =7l a8 At HEZ0(Y
Ot 9712 eld 38 A4 gotolY 343,440,632 484,006,451
6. < = A & o 9o 3,188,524 16,975,414
7b. 2 &t & 9| 1,519,527 16,322,013
oo 3 s s o o 1,668,997 653,401
7. 2 4 H| 15,977,543,688 11,555,453, 768
8. & o & & = Ab H| 1,630,537, 350 2,915,067
9. 71 B o & o #= o 57,161,096 112,967,346
P2 L R N O 57,161,096 112,967,346

o. g = H| 8 427,808,651,406 322,311,309, 468
1.2 8 F dH 2 203,450,542,089 182,640,450,216
b = 2 8 2| 213,438,375,882 192,334,158,806
o= ™ 2 3 2 12,618,127 10,827,764
.2 & 2 # ¢ 10,000,451,920 9,704,536, 354
2. M =2 g dH 08 91,326,755,113 50,165,644 ,663
7b. A = e 2 95,195,088, 741 52,543,086,240
chosl o x o 2 2 o8 o 3,868,333,628 2,377,441 577
3. 3 2 2 H 8 612,641,140 309,056,790
7o "o F B 612,641,140 309,056,790
4, B2 A 2+ E M AN 45,880,426,122 10,929,544,672
R Z EH 2 YA 14,172,860,074 8,794,439,191
H.o2Ed 2Ny I3HYo 5,686,220, 181 4,975,963,292
ChojZdoedaxg 3™y 26,021,345,867 N2,840,857,811
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P Axacioms

CAME /SOy

3} = H 15 7] (& 71) H 14 21 (™ 7])
7 A & Al 733,793,078 860,402,172
Ab o B 63,839,582,310 55,993, 084,226
A2 & s = Aoy 19,267,098,619 18,558,924 ,676
ACAH °F B A 2o 1,177,185,559 1,184,786,664
ol xt ] 2 338,616 535,302
2 8 A4 EZ 5 x4 8 33,754,249 1,237,818
Sr 2ol ol A 2 A A E A 33,754,249 1,237,818
W EI7ls S XA HEEA
ol s A M & A 13,937,570 2,239,870
9| 3 At & 13,937,570 2,239,870
° & & oM & A
28 X A A ZE o 1,305,903,680 1,487,828 ,664
Moooa oo2 164,727,162 170,650,162
7 Bt of o o v 8 1,966,099 6,923,573
d o = & A 1,966,099 6,923,573
o o of Q| 2,306,431,197 9,913,404,754
g o9 9 x= 9 662,575,882 591,830,442
F 8 A M4 X 2 0 o 1,484,000
o9 o 9 T o o 661,091,882 591,830,442
g o 9 H g 472,792,627 443,221,010
g8 XA HE & A 11,000 20,563,618
7| 2 =1 40,986,384
o9 o 9 T o2& A 431,795,243 422,657,392
Mool MY N 2,496,214,452 10,062,014,186
Moo M H 8 2,126,079
g 7 & o 9« 2,496,214,452 10,059,888,107
I = - - T N -1 A4,721,706,711 3,515,709,706
HEIIS B SAMEIIEA | A4,721,706,711 3,515,709,706
5 z = 2 9 (2,225,492,259) 13,575,597,813
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